Za|0]Q] - SAE A JRIT HEY 33
2 ABO1Y|A OIEA EER]
=3 dY/HIE o[o] x|

YT E 2ol

[
o
o

?
2}
n ]]L|
rH
T rlo
la
il
e
=

I
S
30
rir
1>
um
I

2200f oJFt £ P57 ASY e MElY

A2T[RE ASELICH

=

2FAl:

LIAb 22|12 MERIE M8E M=
AlE Ho{Zol| I EE XMEHE 0|

=5 A Bin W ATolM B,

AMIME:

MErst EA| S & K0736.

7 2E LHE K0700....

EH M.

Erel A BE & F 918
EHelB: 53 &% 918
efelc: &3 &% US
etelD: &3 &% US

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

FLEAF £ 212 9] S ot
Bl st LIAF 22IE0 =X
o|8e 4 e HE- &7t

Exatzjo] QlaLCt QlEA ZEHX{E E2iof o|Ft
xlo| HAE EX|GHoF &t =2 Z XML
My @7 EE 2ol AI8ELCH HY EEE
TEOZ E R CIE M2 YXIZ 0|5 5 YU&LICH

=t

=1
[==]

A8 E HE Hof
HEE LT
H=2 HE 3
Ha HE US
H2 LHE QS
HS HE RIS

info@kipp.com 1/3



iLr ol _=alAEI A3 (=] od RF—=L 1L ol= AEI =
=2|0|®] - E2}AE MM H T8l S &m Eo| =28 =
S A LC: =
2 AE|ol|A oA ZX]
=M
D2
I E I e ey, |
| ' X 1 |
| |
: SWi i
N SW2 |' )
i ] L i "
= | % FL LT ] | i
—)
- 1 L] 7100318 !
| ) - = |
(_f: 1}
| ° 3 D4H'7 Q
RNy (4]
<! 0,01 %
| D50 D38 =
[B] . -0,02
~10,05]A]
D1
E= 29
=a|0| QIEiA SR ASY 33 Bl U=
FEHS EfQJ 2 JME D D1 D2 D3 D4 D5 L L1L2L3L4 2AEZ3 SW1 SW2 Fx30° A% EiZS
S Et =2
F1 2. N F2 2. N
K0736.41105 A AE] 5 M10x1 21 8 6 6-0,01/-0,02 43517 7 153 5 13 - 1,3 5 12
K0736.41206 A AE! 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 - 1,8 6 14
K0736.41308 A AEl 8 M16x1,5 33 13,511 11-0,01/-0,03 68 261023 4 8 19 - 2,3 15 35
K0736.41410 A AE 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 - 2,8 15 34
K0736.401105 A AEHIRIHA AR 5 M10x1 21 8 6 6-0,01/-002 435177 15 3 5 13 - 1,3 5 12
K0736.401206 A AHRlMA AR 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 - 1,8 6 14
K0736.401308 A AEQldA ARl 8 M16x1,5 3313,5 11 11-0,01/-0,03 68 261023 4 8 19 - 2,3 15 35
K0736.401410 A AHIHA AR 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 - 2,8 15 34
K0736.42105 B AE! 5 M10x1 21 8 6 6-0,01/-0,02 43,5177 15 3 5 13 17 1,3 5 12
K0736.42206 B AE 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 19 1,8 6 14
K0736.42308 B AE! 8 M16x1,5 33 13,511 11-0,01/-0,03 68 261023 4 8 19 24 2,3 15 35
K0736.42410 B AEl 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 30 2,8 15 34
K0736.402105 B AFE|CIHA AEl 5 M10x1 21 8 6 6-0,01/-0,02 435177 153 5 13 17 13 5 12
K0736.402206 B AEHIMA AR 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 19 1,8 6 14
K0736.402308 B AEHQlMA AR 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 8 19 24 2,3 15 35
K0736.402410 B AEH|QldA A&l 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 30 2,8 15 34
K0736.43105 C AE! 5 M10x1 21 8 6 6-0,01/-0,02 43,517 7 15 3 5 13 - 1,3 5 12
K0736.43206 C AE! 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 - 1,8 6 14
K0736.43308 C AE 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 8 19 - 2,3 15 35
K0736.43410 C AE! 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 - 2,8 15 34
K0736.403105 C AEHQIHA AR 5 M10x1 21 8 6 6-0,01/-0,02 43,5177 153 5 13 - 1,3 5 12
K0736.403206 C AFHEQlBA AE 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 - 1,8 6 14
K0736.403308 C AEHQlYA AR 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 8 19 - 2,3 15 35
K0736.403410 C AEHQIMA A&l 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 - 2,8 15 34
K0736.44105 D AE 5 M10x1 21 8 6 6-0,01/-0,02 435177 153 5 13 17 1,3 5 12
K0736.44206 D AE! 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 19 1,8 6 14
K0736.44308 D AE] 8 M16x1,5 33 13,511 11-0,01/-0,03 68 261023 4 8 19 24 2,3 15 35
K0736.44410 D AE 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 30 2,8 15 34
K0736.404105 D AEIRIYAAE 5 M10x1 21 8 6 6-0,01/-002 43517 7 153 5 13 17 1,3 5 12
K0736.404206 D AEQIMA AR 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 6 14 19 1,8 6 14
K0736.404308 D AEHQlMA AR 8 M16x1,5 3313,5 11 11-0,01/-0,03 68 261023 4 8 19 24 2,3 15 35
K0736.404410 D AH2IHA AR 10 M20x1,5 33 17 11 11-0,01/-0,03 74 281225 4 10 22 30 2,8 15 34
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



Za|0|g! - ERIAE! HAS JEIT 2SS A3 H0| s A
2 AgolajA OlEHA Zeix]

5 20

3

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



